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A- x(y+z)=xy+xz
B- (x-y)(x+y)=x"+xy-xy-y’
2,2
C- (x-y)(x-y)=(x-y)*

=xt-xy-xy+y’

=X

=x2-2xy+y’
D- (x+y)(x+y) = (x+y)*
= X txytxyty’
= x>+ 2xy+y?
: a‘)}a.a.)au.ﬂ__a&uéju J.;j\ - d\_m
A- 5x(3y-5z) = |5xy-25xz
B-  (3x-4y)’=(3x-4y)(3x-4y)
=9x%-12xy- | 2xy+1 6y*
=9x2-24xy+ | 6y*
c- ( 3x-4y)(3x+4y)=9x>+12xy- | 2xy- | 6y*
= 9x%- 1 6y?
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D- -3x(x-y)(-3x*+3xy)
= (-3x*+3xy)(-3x*+3xy)

= (-3x*+3xy)?
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= Ix-9y-9y+9x2y+?

= Ix*- 18y +9x%y
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xXy+xz=x(y+z) -: i) 3 sall e Hlasdl) s

) e D Al o S -
A- 5x+ | 5xy =5x(1+3y)
B- 5x-30yz = 5(x-6yz)
c- 7x’y*-8x’y*+16xy = 2xy(x’y-4xy’8)
=1 Ot e O @AD-Y
Y sl e S 3G jhall s3g) dalal) dxpuall
(x*-y*)=(x-y) (x+y)
Al Y Lelel pe ) Al el s -r JUi
A- (xX3-9) = (x*-3%)
= (x-3)(x+3)
B- (49x*-64y*)=(72-8%?)
={(7x)(8y)*}

= (7x-8y)(7x+8y)
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c- (1) = ((<)-1?)
= (2-1)(x*+1)
AT B e abilad (S s

=(x-1)(x+1)(x*+1)

D- (16-7%) = (4*-(2%)?)
= (42)(4+2)
= (2-2)(2+z)(4+2%)
(16-2%) co ke il gad) (S EOAN paliall qupd @il dad - Jall daua (e aslill
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A- 3xz’- 9xz-2?7 x*z*
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